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Note: Answer any FIVE full questions, chop,pil,tg ONE full questionfr,fuach module.
",,",

Module-l
L a. With necessary equivalent diagr.pg,i'ohtain the expression fot*Z;, Au, Zo for Darlington

t::

Emitter follower. ,,,,.,..:4' $ft'; {tidr, (10 Marks)

b. For an Emitter bias circujtqs@q$acitor bypassed), deteffiiffie r", Zi, Zo and Av. Given

Ru= 470 KC), Rc: 2.2.ry# Vcc = 20V, Rs.= 0f56 KO, Cp = l0 pF, B : 120,

ro = 40 Ko, .: tl'filli, 
oR _ 

lil-.' 
(06 Marks)

I"tn i ,2 a. Derive the expu,eSsi&i for Av, Ar ,Zi and 
ffio,*,f 

Cs fixed bias configuration using complete
hybrid equivaleplmodel. l'1.,,,+i,* (10 Marks)

b. Consider a,,single stage CE amplifier withRs: 1 K and Rr: 1.2 K(). Calculate Ai, &, Av,

ei', ir{1s* i t r, h,": 25,.t0.,,1 
:]-::i":'l,.......!il 

(06Marks)

=,=.l Modute-2. 
",.,,,5-'3 a. Derive the expression for trarrspofrd.rctance g* foq,:U-Ht- -,,,*11**, (06 Marks)

b. Forthe circuit shown inthe,,,.fG. Q3 (b), rut*tqffivor (b) ID#' Vpse (9 
_Yr.-- 

. " ir ...,' (10 Marks)
,.-" r , 

"R.v

Time: 3 hrs.
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a. With necessary eQtrivalent circuipblain the expression for Av, Zin, Zs for a
JFET amplifienJ,tBI amplltle .., ,,1'*m',

b. Derive thdtu4pression for Zi,Zs;=N considering common drain amplifier circuit.

Module-3
a. Derive the expressioffii:'lower cut-of frequencies due to various RC networks in CE

amplifiers. ,::::, . (10 Marks)

b. Determine the lower'cut-off frequency for the emitter follower using BJT amplifier with

Cs =0.1 prF-,Rt,,'=l KC), Rr = 12 KO, R, = 4 KQ, Rs = 1.5 KC), Cs:0.1 pF, B: 100,

f0 = o, V". j'1.5 V, Vuu = 0.7 V. 06 Marks)

,,: ., ,:. ir"

liF Q3 (b)
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6a.
b.

7a.
b.

8a.

Describe Miller effect and derive an equation for Miller inp$t ana output capacitance'
(08 Marks)l[ *d$i].:;.'::!i+ ''+

'{tt:s .

Calculate the overall lower 3 dB and upper 3 dB fitqdncies for a 3 stage amplifier having
(08 Marks)

Derive the expression for input resi

,:t$s.

'irli!.:OR

.,+h:.::\ .i'

.l. '*".1 OR
i:::{ i$i"

15EC32

of Colpitts and HartleY
(12 Marks)

,;::::jVtir;:ldft

10

q Module-S

a. Show that the t ffimer coupled t 
..= -., ner nas maxlmuru o 

,0, Marks)
{nr+,.tn-'

b. A single t_4qsisior amplifier with transfo%6r coupled load produces harmonic amplitudes in

B;= J.i ,+iA, g, = 120 mA, 82 =-{@, 83 = 4 mA' Ba,ff$'mA 85 = I mA
' , tt. percentage.total harmonic distortion-

[t], Hl#''; second identical irrrrir,", is used ,,i* *nll.i,:l,iable transformer ro

provide prJr, pr[ 
"p...ti"" 

Use the above:harmonic amplitudei'to determine the new

total harnio-niiaitt""tio, i " (08 Marks)

,tr
,* 

'"'" 
@R .$= ..**'*

e block diagranq the basic tpes of vo.ltage regulation circuit' (08 Marks)

;. ffiffi iil;tdpfi" oi.Jtnpt.',tpwil symmetry class B'6rnplifier' (08 Marks)

;'i" ,a. 
"** * *t * x ':i,*':::i""
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b ;#;#irffi;iil;;;tiF6ic, = r nr, cz. l,gq Find the varue orL ror, 
ffU:X,I

of 100 kHz. +ih T 
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